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t. Which is the longest National Highway in India?

2. What does this sign (in red colour) mean?

(A} NH-5

(c) NH-7

(r|) NH-6

(D) NH-ls

(Et) One way sign

(Ir) No stopping

Question ld ; 1

Q.reston ld :3

QJeston ld:4

Qreslion ld :5

A Parking prohibited in the following case :

(A) road side.

(B) where parking is permitted.

{c} neartraffic light (o} Paid parking

Blinking red traffic light means
(A) stop the vehicle till greren light glows

(B) stop the vehicle and proceed if safe

(c) reduce speed and proceed

(Dl park the vehicle

CD
(Al Stop

(c) No parking;

A basic rule when on highways is
(A) use the lane that has least traffic
(B) keep the lerft lane unless overtaking
(C) overtake on the side that is clearest
(D) try to keep above 50 kmph to prevent

congestion

(BI NH-O

(D) NH-rs

(B) qq-a-,qr{q

(Dl r) $e,TFI.r

Stest on ld :2

e) oq w Td ft'q-q t
o,i fuqr w rrqd oq

lcfs f,f utrq-s|ftnr1 ?T

itlntq)erfre\ t

ft fr\ uo kmph ir
qqm of I

Qreslion ld : 1

Oreslion ld : t;

+.

5.

r. rll{fl d T{q-d dqT gl*{; {rqqrt otq r{r ti,
(A} NH.S
(c) NH-z

(A) rdq
(c) +r qrffi'T

qq {Mfl-f (6rq}1 r1q

(Al s{T d{ o-r e-dFr

*tuTd l

(B) qrfr dq tr{ rd
s1.frdl

(c) 3ffi ss rrrils
(D) fis-qrE € e-d

-s-q{ qilg rsi ,m

2. gs fuEq (arm \t iil tnr wr eTel t z

e)

F=r R€rfr q wffiq fr$q t 
'(A) r{-s6 fi m-qp

(B) q-d qffiq o1 crgqp g 
1

(c) ifu-o. arge fi qRT

(D) ts q-ffiT

gq.F-ft i{rd *fuq" rf,r-{d cn-r erel t
(A) qGr d6 efr orgd il qd qEE o) ,++i

-.,+,\EI
(B) qrr{ o) trd ei)q qfH q$kf, e} d rsri

ctt
(c) qfr .nq rnt 3iR 3rT,) qt 

t

(o) qraq o) qr6 o-i t
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6. Which lndian Institute developed
sensitive nancrmetric scale - Carbon

a highly
Monoxide

Sensor ?

(A) Indian Institute of Technology, Roorkee
(B) Indian Institute of Science, Mumbai
(c) Indian lnstitute of Science, Bengaluru
(Dl Indian lnstiitute of Science, Chennai

Which team has won the
Football Tournament ?

(B) Manchester United
(D) Germany

Where was India,s first Aviation University
opened ?

(A) Punjab (e) Odisha
(c) Uttar pradesh (D) Rajasthan

erestion ld :6

2Ot7 UEFA Super Cup

(Al Real Madriol

(c) Barcelona

9. Jallianwala Baghr massacre took place on

10.

(A) 1913

(c) 1930

(A) lron

(c) Copper

(B) 1939

(D) 1919

Qreston ld :8

Quesiion Id : 12

Who has been appointed as the new Chief of
the Central Board of Film Certification (CBFC) ?
(A) Shyam Benel;al (B) Naresh Chandralal
(c) Prasoon Joshi (D) Vivek Agnihotri

Q.reslion ld: 10

Who has been appointed as the new Chief
Justice of India ?

(A) Rangnath Yaclav (B) K. K. Mittal
(c) Dipak Misra (D) G. B, Patnaik

Which of the following metals was not t no*n .J
the people of ther Indus Valley Civilization ?

(a) Tin

(D) Lead

6' fu-fl rlrfi=q qqrarFr i ci-.qfufi
+++fr r+-d - ordq m-frrroEg

{rA-qqpfl-fl
r+iq-+- e)

fr-nRfi f+-qr t z
(A) qTrfr-'q m-dilM rir€rn, s-q+1
(B) qr.fiq frf,r €,renq, 6
(c) trpftq ft-flq r{,renq, ATgs
(D) qrcfrq ft-am iirrprn, tq$

fu-{T drq t
qqH-c d-nT t
(A) ft{n qes
(c) qiRldlT

?Tl-{fl TF-I q{f,I
TRIT ?
(A) qqq
(c) sil{ r+qr

(A) gqm ++ra
(c) qr{q \i}qft

Questgn ld:6

2017 UEFA EtR o-q E-cEfu'
?

(B) qi+{-r qrlg-s
(D) -Tfft

QJeslion ld : 7

frqmq Mqrcq o-d d-dT

(B) 3ilRTTI

(o) vrqserrq

(B) qteEiq Hrd
(D) 1?in srftdf

Q.restion ld: 10

Fqq6tq

ft-dtr
qe;IFTM'

Qrestion ld:11

qfuzf-qT-dT qrIT E qffiis gwr w
(A) 1913 (e) rggg
(c) 1e3o (Dl 191e

QJeslion ld :9

t-fi" fu-q eilupq qid (C:BFC) fi ls rgsdwSffiftgffitu+-rqi'

11. qrw + rq TC{r RrErtrftqT +
frg-ff fueT Tqrz
(A) qrmpr q-{q (B} #.fr.
(c) frqfr frsTr (D) \fr.fr.

(B) tt{
(D) {.fr{i-r

Qreston ld: '12

tz. ftq n d ott qfr *Tt-g ft,g wff Hruin +.
c)qt @) sro q-S eftz
(A} Fil6I
(c) drer
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ts. Which State is called the ,Sugar bowl,of India?
(A) Punjab (B) Uttar Pradesh
(c) Andhra Pradesh (D) Assam

Q€slion ld: t3

t+. Which of the following is not a cash crop?

ts. Which state has a separate Constitution?
(A) Kerala

(c) Meghalaya

QJeslion ld: 15

Which of the fcrllowing steel plants was set up in
collaboration ofthe former Soviet Union ?

to.

(A) Cotton

(c) Sugarcane

(A) Durgapur

(c) Salem

17. In which city
constructed?
(e) Delhi

(c) Bangalore

(A) Maharashtrer

(c) Bihar

(A) Pean

(C) Doro

Of which
emblem?
(A) Canada

(c) lreland

(B) Tobacco

(Dl Maize

QJeslion ld : 14

(B) Assam

(Dl Jammu & Kashmir

(B) Bokaro

(D) Bhadrawati

was the first. underground

QJslion ld : 16

bazaar

(B) Mumbai

(Dl Hyderabad

According to Census ZOt!, which is the most
populated state in India?

Name the singler European currency which came
into circulation in 1999.

(B) Tamil Nadu

(D) Uttar Pradesh

(B) Euro

(D) Eupean

country is Kangaroo the ffi;;
(e) ttaly

(D) Australia

Qrestion ld :20

ta. 6)q qt1 {fGrI qrEa

tz
(A) tiql-q

(c) offeT q-dpT

frqqddqrfr
(n) oqln
(c) rt*tT

fr ,{rq-q qTga, o-6FItdT

(B) str{ r+{r
{o) 3pq{q

4^ fo-q+ ilq o-r ysr-qt
(A) +-{d
(c) +qr-dq

Fqqe
Td qifuq-d
TRIT AII?

(A) grrigq
(c) rldq

t@-( qryra q-$ tr
(B) aqIR
(o) q-firr

,frfter1 $z
(B) erq+q

(o) qq-q;s+r

,fr6 qps (Wqrf, ritiel
rlEqhT i) wrTfr-d fu--qT

(Bl q)-nr0

1o1 qq-ffi

QEston ld: 13

QJestion ld:14

Qreslion ld: 16

-a- --C.r)t-t {ll
-;- +\1q cn

q-ql eII?
(A) ftd
(c) +reii

--'--J3-sl E

t{$ffq

18.

{t
q{|{

zo. 6qro fu-s trT ol vrsq rdlo tr

tz. fo-qr yTE{ d qam 1tHrrd qTcrrq ftffid fuqT

(B)

(D)

Queston ld: 17

2011 q=rpFrr d su{{R ql-{fl o-T q-qlD-6
q-+*icqi qrdr {rer ei}q rfl t,z
(n) q6-sq (B) df+d-{rg
(c) fd-dR (D) sf,q r+sr

str t-ffi qgR-'qq qttfi qil qFr *rfr-d
1e9e q qzrc,rq d etrg I

(A) frq
(c) cH

(A) o-tTsT

(c) Gilq{dw

(B)

(D)

(B) {efr
(Dl sf-{ifdrul

Qreslion ld: f9

Q€slion ld | 20
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21. Recently gth BRICS

which country?'
(A) China

(c) lran

Summit 2017 was held in

(B} UAE

(D) Russia

22. Khajuraho monuments is irr
(A) Madhya Pradesh (B) Rajasthan

(c) Kerala (D) Andhra Pradesh

What is the approximate percentar" li'"an"
Earth's surface r:overed by the oceans?
(A) 60

(c) s0

(BI 7L

(D) 3s

Qrestion ld:21

QJeslion ld :27

Where do all the longitudes meet?
(A) The Equator

(B) The Tropic of Cancer

{c} The Poles

(o) The Tropic of Capricorn

Which of the following is not . r.,r#rpi,.
rock?
(A) Slate (B) Marble
(c) Quartzite (Dl Granite

20. Which is the largest desert in the world?

27.

(A) The Sahara

(c) The Arabian

Where is the
Council?
(A) Geneva

(c) Vienna

(a) The Australian

(ol The Gobi

heladquarters of the UN Security

(B) Rome

(D) l\ew York

21. 6r-d fr fr +d l*w v1q.{i zonr ftrs iv d
€3Tr?
(A) fiq
(B) rigw errq srfiqro
(c) tgl-{ (o) sf}rcn

s-gqTd w|{m. t
(nl qtq u{$ q (B} lTq{ail=T ii
(c) il-{f, q (D) sTiiT qtqr ii

Qreslion ld :22

gofr cfi^eqa o-r drrrcIrT ftai qfuytd sgq
gRI sil-qRfl tz
(A) 60 (B) 71

(c) 50 (D) 3s

24. qrft e€rt-r o-d fr-drd

(c) 
T-q)

fr=Tq€e)q
(A) {+d
(c) .Er-qrgd

frrq ii s-q-d e-s-r
(Al w6f{T

(c) ertRqq

l]gffi {rq g{eTr
(A) ffifl'
(c) fr-*rT

rS tz

Q,reslion ld :25

md tz

Qrcston ld :23

Qjeslion ld :24

Queston ld :27

$z
(B) o-fr teT
(o) qq,q tsr

fi o-tqffif, qdeFT
(B)

(D) fflEe

27.

tFiwrq +tq el t
(B) rfrltfucq
(D) ,rilfr

vRuq iFI ttq-f,q
(B) rfq
1o1 tffi
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29.

28. Which is the
keyboard?
(A) Enter key

(c) Ctrl key

(A) 1000

(c) 434

Name the cricketer who holds
scoring the maximum number
World Cup.
(A) Mark Waugh

(cl Rahul Dravid

longest key on a computer

(Bl Att key

(D) Space-bar

*n" ,.;; :;
of runs in the

(B) Sachin Tendulkar

(D) Saeed Anwar

(B) Charlie Chaplin

(o) Walt Disney

Name the Britis;h-born Hollywood comedian and
producer who created the character of the
'Little Tramp'.
(A) Stan Laurel

(c) Oliver Hard'y

31. Choose the odd one from the following :

(B) 7000

(D) 616

(B) Kilo-metre
(D) Litre

(B) I
(D) 2.5

(B) NATUF

(D} NTAUF

Question ld : 30

Qleston ld:31

Q€stion ld | 33

Grestion ld :34

(A) Lightyear

(c) Kilo-gram

A's weight is twice than B,s weight.
B's weight is 4.5itimes the weight of C.

C's weight is half the weight of D.

D's weight is half the weight of E.

A's weight is __ times the C,s weight.
(A) 4.s

(c) 9

34. DELHI = IDHEL, TUFAN = ?
(A) TNAUF

(C} NTUAF

(c) o-Sd a1

- '' \\l q-l l-l
qTil&'g 

I

QJeslion ld :28

f- c\," ( \cp t\cl)lg cl',

(B) $fu{ i-{ftFi

31. *-[ 'Eftl=I Olfug :

(B) 7000

(D) 616

32.?:
(A)

(c)

34.

ze. o-q-{ o1-qN C rrcq) q-€J qt, (g;-St otq
Bz

vs{ ftl (B) eil€ o1
(o) i:trr qn

Tft
(A)

fr{q s-q { e-qffuq;
tlro ft-drcg oI Tt-Et
(A) q-# d
(c) qt-gd qfrs

,ftEd qq, qR-r ,b

ETfu-gs oi'tR-qq Gili:
(A) €q Fft-d
(c) GrTkq-{ ETd

ffifud S qi fuq=t
(Al 1000

(c) n4

qvFI :: q-{d : i1fr
e-ot-sr ili (B) ffifte-q
frtd-qTq (D) fue(

A s.t quFI B ii g=n t. t

B or qq-q c r) +.s tn iy I

C o-r qun D rl eiru"r t t

D or qcrT E ri eirqr t t

A 6.I q.,FT C d" oq=r d tt
(A) 4.5 UqT tat 

-ffi
(c) e {il (D) 2.5 g-{T

DELHI = IDHEL, TUIFAN = ?
(A) TNAUF (B) NATTJF
(C) NTUAF (D} NTAUF

(D) qf,E 3Fff,{ 
e.,esronrd:2s

vqftil tsEvr Td fi
Fiqfor o-r qFr edr{q I

(B) qrtr aqfu{
(D) qt@ R"fr

SJeslion ld :30

Qreslion ld:31

Qrcston ld :33

QEslion ld r34
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35. lf we arrange all the words (given in the option)
alphabetically, which word would be last in the
arrangement ?
(A) Mouth

(c) Mother

37.

FJUL : BOQQ:: LHRX : ?
(A} BKPR (B} MNCC

(C} HRYY (D} HMNC

I am the girl child of my parents. lf the person in
photograph is s;on of my father, what would he
call me ?
(A) Brother

(c) Aunty

38. Choose the option, which represents / covers
other 3 options commonly.
(A) Gandhinagar

(c) India

(A) min cin din

(c) fin din gin

_tu_rt_s__usrtu_
(Fill in the blanks)
(A) rtusru

(c) rsurtr

(B) Mountain

(D) Monurnent

(B) Sister

(Dl None of these

(B) Gujarat

(D) Asia

(B) fin cin din

(D) gin hin min

(B) rsutrr

(D) rsurts

Qreslion Id | 35

Oreslion ld : 39

QJeslion ld i40

39. lf in a code language, "min fin bin ,,r,,T;;;
"trains are always late", "gin din cin hin,, means
"drivers were always punished", "bin cin vin rin,,
means "drivers stopped all trains" and ,,din kin
fin vin" means "all passengers were late,,,
answer the following question :

What will be thel code for "drivers were late,, ?

ss. qR Eq fu6-dq d frg qq riq arqi o)
qs-+ g, d g'o F-q ii 3iftq s-q

otc qrr er$'n z
(A) Mouth
(c) Mother

Q&stion ld :35

FJUL : BOQQ :: LHIRX : ?
(A} BKPR (B) MNCC
(C} HRYY

+$' ++ 

- 

|-i\ ., ---q+l +l\ +llc l-l(_,lc I crrl

ilfl-fl-i fr qe qlffi
n)'tre g-$ qqT s-im\r
(A) -rT€

(c) 
"rfr

d fr-n-n
q||R-d m-{flr
(A) qitf|fl-{
(c) qrEfl

(B) Mountain
(D) Monument:

(D} HMNC
q/estion ld : 36

d-s.lfitidr{tlqR
frf qro1-fts i d-iT e
gdrhr?
(B) e-ffT

JI.

38.

(D) flq ii oi$ rO
Qlestion ld : 37

qiri s F+o-odi o\ 3Tlrd{ q{
qq=l o-t ,

(B) Tqild
(D) \rRrqr

qR fufr v+ifrft-fr qrrn d, '.min fin bin
gin" vr GTef t "trarins dre always late,,,t'gin din cin hin" gil srsi t "drivers were
always punished", "bin cin vin rin" ol eTel

B "drivers stopped. all tr,ains" efq *din 
kin

fin vin" ol STQI B "all passenqers were
late", e\ ftq qr{ @T siT,{ €fqg-,
"drivers were late" d ftrq wr r]-dnr *'nz
(A) min cin din (B) fin cin din
(c) fin din gin (D) gin hin min

_^ tu _ ft. _ s _^_ usrtu _
ft-+n -vefif-ot ffiafry
(A) ftusru (B) rsutrr
(c) rsurtr (Dl rsufts

Qrestion ld:40
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41' David gets on the elevator at the tt$ Roor. ot.
building and rirJes up at the rate of 57 floors per
minute. At the same time, Albert gets on an
elevator at the Str * floor of the sarie building
and rides dornrn at the rate of 63 floors per
minute. lf thely continue travelling at these
rates, then at which floor will their paihs cross ?(A) 19 (B) 28

tc) 30 (D) 37

A boat covers a certain distance downstream in
L hour; while it comes back in t hour. lf the
speed of the stream be 3 km/h, what is the
speed of the boat in still water ?
6l t2 km/h
(c) 14 km/h

44, 4.2 x 4.2 - tr.g x i_.9

Z.B x 5.1
(A) 0.5

(c) 20

The rational number
0.125L25.... is:
(A) 63

487

{c} 125

999

A man can row three-quarters of a
against the stream in j.1. minutes and
stream in 7 minutes. The speed (in
the man in still rarater is :

(A) 2 (B) 3
(cl 4 (D) 5

(a) 13 km/h
(ol 15 km/h

Q.restion ld :42

kilometre
down the
km/hr) of

Q€stion ld i 43

is equalto :

(Bl 1.0

(Dl 22

for recurring **;
(B) 119

993

(D) None of these

Srestion ld i45

+t. 3fus frTfr utn 41 11fi qfu"T qr $dner t
GTr+I t efs sz dfur qft fuqe qfr -{.rdlq q)
arq{ Et frq qror * | rrqfl {+nt qq qcq-C
c;$ q+q of srff q1vf, ,rq {$+-{ d .inr tsi}i 6.3 rifti-d qft ft-re qfr {sitr d +dqqr q I qR v{ efuii tft qr# o*n 

"* 
.lqffi d, a) q+-{ {n +ifrro qr +fr +' qT.f

qrsqfuo fiz
(Al 19

(c) 30

Tfi' 3rTEfr frrdr+-{
frrE 11 ftTd q +mt
7 fr{d t snnqre" ti
ai fterq q-m 1 3il-Eft
eIfrz
(A) 2
(c) 4

4.Zx4.Z-tr.gx1.9
2.I x 6.X_

(A) 0.5

(c) 20

o-l' i:v4d -tt" ,rqrE $
f+ur o-q q]crdT t siq

do-rl?dTq o-{ q.F-ar t,
+1 qfr (frrft7d;, o*
(B) 3
(D) 5

(B) 28

(D) s7

42. Vo- itor ErM of f,cw fr r qd if \.fi ftR-{d
ffr aq -$ t I qE- 1 ED q qMqT srTfi t rqrE qmr dl qfil 

_3 fihfr ,rfr Eicr t, fi +sr
o1 yrin q-rft fr qfu qqr dfiz
(A) rz furfr7{31 (B) 13 fr.xft75fu1
(c) t+ ftrfttqa (D) ls ffiltier

44. ffi; qriq{ tz

(B) 1.0

(Dl 22

Q.reston ld ;43

Qreslion h :4s

45. 3il-{d
r\

at-l
(A)

tD)
(c, r.25

999

Clueston ld :44

o1 qfu+q riqT
63 (B)

487
119

993

V.rq $ oN "r-S

Page:8



ou. A, B and C start at the same time in the same
direction to run around a circular stadium. A
completes a round in Z5Z seconds, B in 30g
seconds and C in j.9g seconds, all starting at the
same point. Alter what time will they again at
the starting point ?
(A) 26 minutes and 1g seconds
(Bl 42 minutes and 3G seconds
(c) 45 minutes

(D) 46 minutes and 12 seconds

47. A is two years rolder than B who is twice as old
as C. lf the total of the ages of A, B and Cbe27,
then how old is B ?

A person's present age is two-fifth of the age of
his mother. Aftelr 8 years, he will be half of the
age of his mother: How old is the mother at

@1 7

(c) 9

present ?

(Al 32 years

{c} 4Oryears

(B) 8

(D) 10

(B) 36 years

(D) 48 years

Three times the first of three consecutive odd
integers is 3 more than twice the third. The
third integer is:
(A) 9 (B) 11

(c) 13 (Dl 15

Qreslion ld :49

The average of 210 numbers is zero. Of them, at
the most, how many may be greater than zero ?
(A) 0

(c) 10

(A) Saturn

(c) Mars

(B) 1

(Dl 19

Q€stion ld : 50

s1. The Great Spot is; on the planet
(B) Venus

(Dl Jupiter

46. A, B q C vm' Tflrmt-{ {+R-qtT fi qT-d

96 fr ReTr t \'qr S irfiq r{ ds_qr
ctr{
gs
T{T
198

tl
qt

47 A E) qlTer qs-r t q *f, rr) C qi gUtt ** t'
1S n, B cilq C ftt ss qil-qfq ;; at ut Eqff sq wr *rftz
(A) z (B) B

(c) e (D) 10

QJeslion ld :47

\-o dTfrf, o1 s-dqTq sq ilTqff d o1 ss o-r
2/s qFr t t a HTcT qfq r:61 31ffi d of sq€ 3rnft sq or d snf'n I a) + +t qdqlq
sq zMr E}fr2
(A) 32 T{TFI (B) 36 rlTcr
(cl 40 rliel (D) ,+s rfl-d

Qjeston ld :48

o-r fi-{ ]trIT,ire)ffi
4e. frq m-ho. frqq q"tfuTl fi qd-d

fl -*t Wf* fi g-J+ qi s t-qrqr
Tq|dr olq rfl e}fl2
(A) e (B) 

11

fr-{d t I A BT{or q?Ff,il zsz riors ii
T{dT i I B, 3oe {im.rs q eiq C,

$"1s d, *t qn fr Rg t sJs -.s-cd

ATi nrq fi qrq A qrqrr rrfo6 ftfgdir
(A) 26 fr{E efr ra r}-6-u;s
(B) 42 frTd ert{ so rl-q'o's
(c) 4s frTe
{D} 46 frTe cil{ 12 1t6-u1;

(c) 13 (Dl 15

Qrcstion ld : 50

qq fd rqls tr
(B) {|f

20 fiEqT3fr o-r 3rYfl-d Tq t I sq-E €-"H
q) vqrqr ffi vpe r)'e-g ei-fi2
(Al 0 (B) 1

(c) 10 (D) 19

50.

st. qlq € u-s
(A) pTfr

(c) ri.rd tD) qE$Tfr
Qreston ld:51

Page;9



52. Biosensor is usred to measure
(n) Blood glucose level (e) The body pH value
(c) Amount of hemoglobin
(D) Salinity in Urine

QFstion td i 52

53. Digestion of food is completed in the

(Al srnall intestine (B) large intestine
(c) Stomach 1D) Liver

Qrestion ld : 53

Meteorology is lthe study of
(A) Seasons (B) Atmosphere
(c) air and sounds (D) winds and clouds

The source of oxygen in photosynthesis is
(Al Water (B) Salts

Deficiency of Vitamin-B j. causes
(A) Night blindnerss (B) Beri_Beri
(c) Scurvy (D) Rickets

(c) Minerals (D) Glucose

(c) Einstein (D) Newton

(c) silicon (o) Clay

(c) Radiation (D) None of these

qrcston ld : 57

About 50% of the Earth,s crust, including the
waters on the Earth and atmosphere, is
{Al Oxygen (B) Cabon dioxide

QJestion ld :54

Qieston ld : 59

57.

Qrestion ld : 56

Who is considered the founder of meteorology?
(A) Aristotle (B) plato

Q.lestion ld : 58

lf we heat one end of metallic rod, the other
end gets hot, The rnethod of heat transfer is
(Al Conduction (B) Convection

sz. qrqHRT{ or g*ilmr
qrm tz
(a) qffi vrfivr r+q
(cl S+rcffiq o1 qer
(D) rlr ii eq"ror

wr qrqq fr ftq fu-qr

(B) erfi-< pH n;r

ss. fugrfrq-B1 o1 sfr fi E)-flT t(A) rdftfr
(c) {+.-ff

qo-|-gl-fiTdEq
Srel
(Al qrfr
(c) qft-q

fu$ qt€rT fdan mT
(A) 3r{q
(c) srr{{grw

58. qrf,Tq{q 3ik Tsfi q{ qd gfua ,*-sqq9 o-l 6q1q'5eyo t i
{A} sfr-fiftffT
(B) mT-f{ W$eqr{s
(c) fuM-q ro) ftqS

,n 
YR Sq 

qTg fi r+Rd fi \,-o R* o1 #"ffid { qry E}-i .rt' Ei infnr t I sqT
{arT;rrif{ut d} qa ot{ cil qDqr tz(a) qiorq (B) qfcrgq
(c) frfu-irl (D) {r"ii q} qtg q-S

Qjestion ld: 59

Queston ld : 52

Qrestion ld j 54

Qlesfon ld :55

-

se. qlqs a-1 qril{ o-6T ,i"i dar tr(A) ut$ sTif, (B) {S GTid
(c) sirrnyrcr (D) qF-f,

Qrestion ld : 53

t* frs,q q fu-{rmT 3tr4-q=r fu-qr qril tz(A) *-ger} or (Bl qrmmq or
(c) Eqr silq sqB oT
(o) q+q efq q|-{d.l or

(B) rrft_+s
(D) i.W-q+

GTrqdtq-{ o] sil-a

(B)

(D)

;1qcp-

ri{Etq

57.
erestion ld :56

$rpnqrn q=n qror tz
(B) qld
(D) ?ftlqr\- '

Page: l0



60. Bronze is an alloy of
(A) lron. Carbon
(c) Mercury, Leiad

(B) Nickel, Zinc
(o) Copper; Tin

oo. qfssr ftqq t
(Al oTrqEq, o-r-tr{
(c) ,n6-ft, ds

f-., -'--trC{?c1, lqcr/

eTq-{, fuT

(B)

(D)

Page: J I



ENGLISH TANGUAGE

61. Choose one option that expresses the
of the sentence.
A man with abnormal habits.
{A) Eocentric (B) Arrogant
(c) Self centered (D) Supercilious

62. Choose one option that expresses the
of the sentence,
Animals that ealtflesh.
{A} Carnivorous

(c) Vegetarian

Qrcstion ld:6t

meaning

(B) Graminivorous

(D) Herbivorous
Qrestron ld :62

that expresses the most
for the ldiom out of four

(B) in the face of
(D) to chase

e,testlon ld | 64

preposition out of

Question ld:66

meaning

oJ. Choose one option
appropriate meaning
options.
In the teeth of
(A) real cause

(c) in the end

Choose one option that expresses the most
appropriate meaning for the ldiom out of four
options.
lns and Outs
(A) no details (B) finally
(C) major share (D) full details

Choose the most appropriate
four options :

She jumped the river.
(A) on (B) in

{c} into (D) to

66. For blank space, choose the proper article :

Do you speak Chinese ?
(n) a (B) the
(c) an (D) no article

67. For blank space, choose the proper article :

I need
(A) a

(c) no article

68. Choose the option that expresses the
meaning of the given word.
AGONIZING
(n) Bold

(C) Painful

6e. Fill in the blanks with suitable option.
He is a. person, he eats all the time.

bottle ol'water.
(B) the

(D) an

(n) Skilled

(c) Slanderous

70. Choose the option
to the given word.
EMINENT
(A) Famous

(cl lmminent

(e) Risky

(o) Iikilled

{Bl \/oracious

(D) Etiased

Qreslim ld :69

thert is opposite in meaning

(a) Sad

(Dl Urnknown
Queslion ld :70
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Hq.r*r
\21. ,tqQT etlq gtf,t t l, qF ol ot{ T{T

HraI(A)

s (Bl qr{

(B) *qf,
(Dt ftig

(B)

qEst,on ld:71

QPstion ld:73

qfi' qrq

QFstm ld:rf

(Dl q|tq frral silq o-d qrts

z, ftq F d {Sffi'r qrq t :
(A)

*

^ m^f, qi r*fr,T-gfuirr w
T6I €?

(cr *_T* ffi
+, ,$ q-f{ fr qi d r, qrwivr fi

+
Q

(A)

3
(B)

(Dl

sir sqnfr ftqrelo trrfu_*' ,Sry
(Dl tisr

rm (D) 3tT

et{ {fr qdfr rrfr &

ftq q r{ fu-s qlq S q{ Bqs.i
(A) Twns S#*
tcl gwb (Dl gqr

. ,tf,fTfff1, gH { otq qT ,riqq
ral tI (B) tril

(A)

t (B) dE:sm
(D) $grd

79. .q1-q?[, an qqf*n-fr vrq t
(A) o(, W rR-q Fl qrR,

{cl

ffi
80. .qslg1q1, 

iffiT TfrTtqTefi vrq t
(AI o-Ifr+ffffi (Bl aqFr'ff

(D) Tq6ns

, ].HfrTfr

qlostin td 
' 

80

l

B@: tg



81. 'Bhakt-Bharti, and.satyagrahi prahlad, are the
poetic creation of
{A} Tulsidas Sherrma Dinesh
(B) Uday Bhanu Hans

(c) Lakhmi Charrd (D) pt. Mange Ram

82. Haryana shares its border with
(A) Punjab (B) Rajasthan

(D) None of these
(c) Tipra Hills

(C) Four

(Al Palwal

(c) Karnal

Qrestion ld t81

QJestion ld i 83

Qreston ld :85

Qreslion ld i 87

(c) Himachal pradesh (D) Allof these

Q.lestion ld :82

83. The Aravalli Hill:; are also locally known as
(A) Morni Hills (B) Mewat Hills

84. The irrigation network in Haryana can
divided into how many parts ?
(A) Two (B) Three

(D) Five

Famous tourist complex Dabchick on Delhi_Agra
highway is situated in the district

(B) Gurugram

(D) Sonipat

86. Who was the First Chief Minister of Haryana ?(A) Manohar Lal Nlhattar

(B) Bansi Lal

(c) Bhupinder Singh Hooda
(Dl Bhagwat Dayal Sharma

87. Bhiwani is known as ,,Little 
Cuba,, 

"f lrd;;::"
to large number of ---, who hail from the
region.
(A) Coaches (B) Boxers
(c) Athletes (D) None of these

81. .rTqd-qf{fr, Gil{ ,{t-qrqiff qedfq, f$qd,

be

.F-ralT-cqo. qtffi tz
(e) gatftqis qTqf ftivr
(B) s(q qE €vr
(c) d-€fr riE (D) q. qii vrq

ez. 6foq;un elq-ft qftql gqTfi
(Al riqrq (B)

(c) fdqrq-d q-ipT (D)

Qrestion ld :82

qrrq-dr qETR?n o) rar+q gq € {tr T-q firfr qrqr qraT t.
(A) qlrfr qETM (B) ftqrf, qsrRd
(c) frqrr qETBd (o) ;inif q) Eutg TS

E-Rqrnq@ftT6o)ffi',ffi";
ql-fl qi qf,D-dT t?
(A) d (B) -(ftq

(cl qrq (o) r:il-q

qrl qRtq q-de-{ oYqd-tr
fiFro tiz

(B) ItFqrq
1o1 sffiq;1

Qreston ld :8b

ERqrqT d' qw Ecqri-ft otr e) ?(A) q-+F{ dtet qs-{ (B) qqfi drd
(c) Tfu<T ftie gsr (o! qq-qs qqrm ymf

Sreston ld :86

84.

Rc,Fft-3ilrm {rqqFf
erqfun fu-{{ ffi q
(Al qffiri{
(c) o-strFT

tnt qPrerfi)

(c) gscfre

eir d sTfqfi ricqT t
ol-{uT fW oi q1qdF;ffi
Trq { qFrT qcTT t I

eJestion ld :8.1

{TTET TTrflI STf,r T
rrs{qiq
?16 $fi

+6tifr
T{qT/ fi

85.

6t.

(Bl gqMi
(o) FrC € ot$ 

S,,,,
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88. Who yon Indlia,s first ever Gold Medal in
women's wrestling in the 55 kg freestyle
category at the 2010 Commonwealth Games ?
(A) Babita phogat (B) Suman Kundu

{c} Geeta Phogat (Dl Vinesh Phogat

8e. A famous personality from Haryana, yashpal
Sharma, belongs to

90. Govt. of Haryana launched its
with support of Cargill to

(el Sakshi Malik
(c) Saina Nehwal

{A) Cinema

(c) Journalism

(A) Hisar

(c) Yamunanagar

(A) Hisar

(c) Panipat

(B) Politics

(D) None of these

First Food Bank
support various

91.

feeding prograntmes at
(A) Ambala (B) Bhiwani
(c) Hisar (D) $urugram

Qreston ld | 90

Who has been appointed as State Brand
Ambassador of Haryana Government for ,,Beti

Bachao, Beti Paclhao" Abhiyan ?
(B) Priyanka Chopra

(D) None of these

Qrestion ld :91

In which district(s) of Haryana, Thermal power
Station situated ?

The biggest animal farm of Asia is 
'.T;J:;district of Haryana ?

(B) Panipat

(D) All of these

(B) Faridabad

(D) Jind

qreslion ld | 93

88. ffi-$i 2o1o q-Wisd
q.f q qFdT gefr q
qrdl ?
(A) qfif,r trtlrc
(c) rfrCr qtrre

Efucqrd qyrvtd yFri
5r
QI

(Al ftr+qT
(c) q-:-+rtror

d ss kg ht{Ergcr
O-I qelrl TquI qE-fr

tri
r]|{fr

(B)

(D)

91.

(B) vr.'rffft
(D) fl+ ii sx q-S

frf\-fl {qr-q Frffii il- wqeiq fr ldq ERqrqT
TflqrR i oT-{Frd i; T{sph fr T{Tsr GTq-{r
qddr sril il6 o-dT {al|bd fid'fl z
(A) Gr6rrdr (B) fffi
(c) f{sTi (o} gv.qrq

,+& qqr*r), +-a qqr*r), srfuqn #*"ffi
ERqTqT Tf{ib.r{ o-r qfcq Tlrrs N-fl€-{ fd-d
Fgffi fu-qr rqr z
{A} wefr qfuqr (B) lhcioT otqEr
(cl r+q{r +f,sriT (D) ,il{ii € q't$ q-ei

ERqToTr fi fuT{ fu.i q srd-d ro* 
*ffi

furo t.r
(A) Fq+R (B) ril-ftq-d

(c) qil{r+q-q (o) r} qrft

qRTqT m-r {rq-$ qgr lRJ trld 6Rflqr ;"ffi
ftildqRerotz
(A) frrflT (B) r:6frq-q-g

(c) qrfi!-d (o) rfi-<

ur{ g"g
fr-ivr qt.le

Qleslion ld : BB

q) rrrqRrd

Q/estion ld | 93
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e4. Match the following :

List-l
(a) Panipat
(b) Rohtak
(c) Panchkula
(d) Ambala

List-l I

(i) Tilyar Lakt:
(ii) Kala Aamb
(iii) Kingfisher
(iv) Red-bishop
(A) a - i, b - iii, c - iv, d - ii
(B) a - ii, b - iv, c -iii, d - i

(c) a.* i,i, b - i, c - iv, d * iii
(D) None of these

gs. which dance of Haryana is o"nor#"" til
women at the house of bridegroom ?

(A) Ghumar Dance (B) Khor:ia Dance

(c) Jhumar Dance (D) Gugga Dance

go. The Zakir Hussain Rose Garden ,, ,,,rr,"Jil""'o'n'
(A) Pinjore (B) Chandigarh

(c) Panchkula (D) Ambala

s7.ln Government of Haryana, o.o.ntlni" J
lndustries & Commerce is allotted to the
Minister
(A) Vipul Goel (B) Kavita Jain

(c) AnilVij

(D) Falls under Union govt.

eB. After Anti-Romeo squad ,.un.n"1""""''oi
Government of U.P., Government of Haryana

launched
(Al Mahila Raksha Squad

(B) Durga Squad

(c) Jagrut Mal'rila Squad

(D) None of these

e4 q1€t fr-f,1-q dfrg:
qfl-r

(a) qr-frqa
(b) Ri{fl6
(c) q-q-gdT

(d) 3rfr[TdT

qfr-u
(i) ft-dqx #f,
(ii) orcn erq
11;;1 fdrfuen
(iv) i-s-f+q|q
(A) a - i, b - iii, c - iv d - ii

(B) a - ii, b - iv, c - iiii, d - i

(cl a - ii, b - i, c - iv, d - iii
(D) Eqq rr @f{ r-S

Orestion ld :94

Arston ld :98

os. sftqpn q qBdTcn flgt {€ *' qq qq thtq

{{r Tfq foqr q-ar ilz
(A) W-i T.q (B) dRw atq
(c) qq{ T.q (D} {qr Ts

so. qtfu-{ g_e-{ i-q r6h R+ro t
tet ft-fiq (B) iis{rd
(c) qq-g;-dT (D) oiqfdr

Qreslion ld :96

oz. gfoqpn q-{cnf{ q B-qt''l gq ilFlGq frqFT
fu-tr ri* @) 3rciftd fo-q rrqr tz
(A) ftSf, rifqa (B) o-fuor Sr
(c) GTfrd fr-q
(o) rjq q-{rrr{ fi srefi-q (jTfflT t I

Qreslion ld :97

e8. s.s. {r{iFr{ Hr{t qd}-';fiFrd Tfifls qr$+{
?F-{i + qrq Etrqlqt Tr{cf;il-q i qrctl"I fu-qr
(A) qRdr {eil l*t (B} €rf {ffis
(c) qTa qPd-dT wfs
(D) s{q t fig TS

Sreslion ld : 95

q.reslion ld :98
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too, Which is the

(n) Hbdol

(c) Billaspur

zz"d district of the ftate Haryana?

(Dl Bapol

se. s-Frft 2017 ii q-fl\f i q$sd .ilgffi d-,n-{l+ fug Etrqtqi qqs'fr o1 H.r
?erT riw fo-ci g 

I

(Al 7 zsz o_tlg

too.5fu;q1 qrq or 22rii fudr et{ qT tz
(A) Ers)-o ffiffi|ffi
(cl fuffFEF (Dt flm

{B) 7 sfi stlv
(Dl T rrr mqtg

e€st@ ld:99
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?Tr rREr-qr ol Cq o'ri t Wft Tqqt frftft 6'l ct
surffid * frs Ftq ft&r

1. tri+fi c'aa si da rt 3itr e-d-fi wa *.Ra.ftitfud rro sqrfr srtra z t I

2. r.at ti" U *U to1 dfE-d fr :Raq.r fr ga (r-20) 1w :i-r r'qi oMR r-(r{ q{m. d-fr mrfut qrdr t | :+qEql +} rmt fi Br.fi tfr'qr* cfE F-nc * 3|{{ gFft-q-d +-r d fu 3ilc6T:Rrs.r sil-{ oNrR rd{ qrfi * srfi Tq raft a-6 *ir go t :ffr gS f*fr afi q-m.R t
erfr nfr \#* t , ffi efr r*n €t ffi qrc ari c{ 3l}qeff 6t ctrfiarfi d t+e g+rt-c rih ovn Jc?fi- En-6 Ecc-Er *d} ilF(, I cfiqTT
cRfi f+ S cf-{ fild-d veq( tS flsffi' w fqr -6 frw dT(rrfl, I

3. Ts:R'd-fir 3+r CrN4n Jd{ q:rfi fr sqr $qil rla a;=q-r frun a a$ r

4. wa-gRa-+:it* Oun jccr{ qrn fi fufi eft y.d s} a d q€ :ih a alt r

5. r+qffi +i eqq: qe#q c-aer-q{ arar t, f}'e qt aa fi fr dfqr rrqr rai;r oitt y+r c?ra c{ frqfiT 6fdr q.rR,;rd B frsr g:n t r ws}d s) ffi uqcB-fl 3{ffi rcKI eqlFra 64 urtrv I ge-+ 3{frR+d qH Fr"r Fn u*' qR"q-q{, -.;l$ fr gigfur dr{dF€., Fd..6rdTqfrqq-q{, gnqn unr6, cT€*e 3iTB * d 6f* r'+. qfreiT-+-tr rR on?Tr 3#rdr6 t f ga-+ a di qr s+rq$ ifl cfrsr_hm d. c-}sr €f :rdqR.rfr fr artaft r

6. $srqefi oMR 3ra{-c;FF jl arq, i-d a. at{ g+-te ;i. sfi alt r vfr ga*c d. # fta.fdqr rrqr'€er|;T q|iif d5r :aar t sT q-m. t 3n?-6qs-fd d" frs ea'erq H qr F*eqrn ara :itt rta a-rq"t a-fi art an' t a g+ ere-a aftdr t ffi +cr oq-di: i, Irrn drwn 3ilT 3Fil{-c6rrr.
mr reqi+-d ;r& trqr qr(rql | g+-tc a. fr{ri df Gh-m sfi q-fiR fr 3fu * qE -fi qr :+qeff Fdzi fi cfrvrd.si ryTd-} * fr(, 3-.".rc^r{I
dm t 3w-:r+uefr 3s-* of o+ t rft.rb or :ltr atrm-:rsqs :rqi Ert aq * 3W or :ioa rqfi:erfr-qren q{, oMR 36q vr6 w 3tr{
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